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Read the following instructions carefully.

1. This question paper contains all objective questions.

2. Questions must be answered on Objective Response Sheet (ORS) by darkening the
appropriate bubble (marked A, B, C, D) against the question number on the respective
right hand columns. Each question has only one correct / best answer.

3. All ORS will be processed by electronic means. Hence, invalidation of Answer Sheet
due to folding or putting stray marks on it or any damage to the Answer Sheet as
well as incomplete / incorrect filling of the Answer Sheet will be the sole responsibility
of the candidate.

4. Incorrect answers will carry NEGATIVE marks. 1/3 mark will be deducted for each
wrong answer.

5. Answers without any response will be awarded zero mark. Wrong response or more
than one response will be treated as incorrect answer and negative marks will be

awarded for the same.

6. Write your roll number, name & question booklet number at the specified locations. of
the ORS. ‘

7. Use only Black/Blue Ball Point Pen to mark the answers by complete filling up of the
respective bubbles.

8. Mobile phones, Calculators, Slide Rules, Log Tables and Electronic Watches with
facilities of Calculator, Charts, Graph sheets or any other form of Tables are NOT
allowed in the examination hall. Possession of such devices during the examinations may
lead to cancellation of the paper besides séizing of the same.

9. Mark the answers only in the space provided. Please do not make any stray mark on
the ORS.

10. Rough work can be done on the question paper itself. Additional blank pages are given
at the end of the question paper for rough work.

11. This question paper contains 28 printed i)ages including pages for rough work. Please
cheek all pages and report, if there is any discrepancy.

12. Please hand over the ORS to the Invigilator before leaving the Examination Hall.
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BIOLOGICAL SCIENCE
(English Version)

Each question carries 1 mark

1. Which synthetic phytohormone is used in root-setting powder in horticulture ?
(A) IBA B) 2, 4-D
©) 2, 4, 5-T (D) ABA

2. Evolutionary history of an organism is known as
(A) Phylogeny (B) Ancestry
(C) Paleontology (D) Ontology

L2

. If the respiratory rate of a man is 16/minute, then the rate of his expiration would be
(A) 8/minute (B) 12/minute
(C) 16/miriute ' (D) 24/minute

4. The genetic potential of a plant cell to produce an entire piant under suitable environment is called
(A) Tautomerism (B) Caulogenesis

(C) Rhizogenesis (D) Totipotency

5. Jute fibres are obtained from which part of jute plant ?
(A) Xylem (B) Phloem
(C) Pith ' (D) Epidermis

6. DNA length per turn of helix is
(A) 3.8 A B) 3.4 A
(©) 6.8 A D) 34 A

7. CO, is transported in blood as
(A) carbonic acid (B) bicarbonate

(C) carbamino compound (D) all of these

8. The histone core of a nucleosome contains how many different types of histone proteins ?

A) 4 B) 5
©€) 6 D) 7

(3)
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. Which statement is not appropriate for glycolysis ?

(A) ATP is used

(B) ATP is produced

(©) CO, and H,O are used

(D) NADH and H* are produced

10. Pinna is present in
(A) Birds (B) Protozoa
(C) Reptile (D) Mammals
11. UAA, UAG & UGA are
(A) Start codons (B) Stop codons
(C) Sense codons (D) Both A & B
12. Oxidized haemoglobin contains
(A) Fe?* (B) Fe¥*
(C) Cu* D) Cu?*
13. Rh factor derives its name from
(A) Monkey (B) Ape
(C) Rhino (D) Human
14. The effect of length of day or night on flowering is called
(A) Photoperiodism (B) Vemalization
(C) Phototropism (D) Phyllotaxy
15. In mismatched blood transfusion which zvent does occur ?
(A) Donor’s red cells are haemolyzed
(B) Recipient’s red cells are haemolyzed
(C) Haemolyzed red cells produce jaundice
(D) Both (A) & (B)
16. DNA replication is
(A) Semiconservative (B) Dispersive
(C) Conservative (D) None of these
JEN BS. . ( 4 )
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. Heart sounds are produced due to
(A) sudden rush of blood into the cardiac chambers
(B) sharp closure of the cardiac valves

(C) either (A) or (B)

(D) none of the above

18. What are ribozymes ?
(A) Enzymes that degrade RNA (B) RNA with catalytic activity
(C) Circular RNA (D) Both A & B

19. Nucleosome contains
(A) Only DNA (B) DNA and histones
(C) Only histones (D) Both DNA and RNA

20. The edible part of apple is
(A) Fleshy ovary (B) Fleshy seed coat
(C) Fleshy thalamus (D) Fleshy calyx

healthy man occur in the order
(A) N<M<E<B (B) B<E<M<N
(C) N<M<B<E (D) E<B<M<N

22. F, genotype ratio of monohybrid cross is
A)1:1 B 1:2:1
< 2:1:2 M 9:3:3:1

23. Which one of these is an edible algae
(A) Agaricus (B) Amanita
(C) Spirullina (D) Marsilea

24. Biological concept of species is mainly based on
(A) Reproductive isolation

.

(B) Morphological differences
(C) Methods of reproduction only
(D) Morphology and methods of reproduction

(5)

21. Absolute counts of neutrophils (N), eosinophils (E), basophils'(B) and monocytes (M) in an adult
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25.

26.

27

28.

29.

Which pathway is known as C, pathway ?

(A) Photoperiodism (B) Photosynthesis
(C) Photolysis (D) Photorespiration

How much lipid can produce 9 Kcal energy ?

(A) 1 gram (B) 1 mole
(C) 1 molecule (D) All of these

CAM plants show a photosynthetic pathway which is more or less identical to the
(A) C, pathway B) C, pafhway
(C) C, pathway (D) C, pathway

Muga silk is found in
(A) West Bengal (B) Mysore
(C) Bihar (D) Assam

Which vitamin can be produced in the human skin by the action of sunlight ?
(A) Ergocalciferol

(B) Cholecalciferol

(C) 25-Hydroxycholecalciferol

(D) 1, 25-Dihydroxycholecalciferol

30. Which phytohormone induces seed germination ?
(4) GA (B) ABA
(C) Ethylene (D) TAA
31. Muscardine disease is caused by
(A) Protozoa (B) Virus
(C) Fungus (D) Bacteria
32. The synthesis of polypeptide on mRNA is called
(A) Transamination (B) Translation
(C) Transcription (D) Translocation
33. Pouched mammals are
(A) Therians (B) Prototherians
(C) Metatherians (D) Eutherians
JEN BS. ( 6)
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38.

39.

40.

41.

42.

35.

36.

37.

. Carbohydrates, proteins and lipids are absorbed chiefly in

(A) duodenum (B) jejunum
(C) ileum (D) colon

Two strands of B-DNA are

(A) parallel : (B) antiparallel
(C) complementary (D) both (B) and (C)

Each turn of the B-DNA helix contains how many base pairs ?
(A) 12 pairs ' (B) 11 pairs
(C) 10 pairs i (D) 9 pairs

Tube feet are the locomotory organs of

(A) Mollusca (B) Echinodermata
(C) Annelida (I' ) Mammalia

Which set is the example of pathogenic arthropods
(A) Tse-tse fly, mosquito, flea-plague (B) Crab, culex, spider
(C) Anopheles, culex, cray fish (D) Silver fish, house fly, sand fly

The light reactions take place in the

(A) Stroma (B) Thylakoid membrane
(C) Cytoplasm (D) Mitochondrial matrix

Which of the following is not found in blood ?
(A) Urea B) Glucose
(C) Glycogen (D) Ketone body

In which cell organelles are the reactions of photorespiration carried out ?
(A) Mitochondria & nucleus

(B) Chloroplasts, mitochondria & peroxisomes

(C) Endoplasmic reticulum & dictyosomes

(D) Nucleolus & chloroplasts

Pseudopodia is the locomotory organ of
(A) Amoeba (B) Earthworm
(C) Cockroach (D) Paramoecium

(7)
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43.

44,

45.

46.

47.

48.

49.

50.

S1.

JEN BS.

Sarcoma is related to the cancer of
(A) Epithelial tissue (B) Nervous tissue
(C) Connective tissue (D) Both (A) & (C)

In the process of fermentation pyruvate is reduced to
(A) Lactate or ethanol (B) Phosphoenol pyruvate
(C) Isocitrate (D) Phosphoglycerate

Main fuel reserve of the body is
(A) protein (B) glucose
(C) glycogen (D) triglyceride

Polymorphism is found in
(A) lysosomes (B) mitochondria
(C) ribosomes : (D) nucleus

Under aerobic conditions, the pyruvate is completely oxidized via the citric acid cycle to
(A) Lactate (B) Ethanol
(C) CO, & H,0 (D) Citrate

Charles Darwin’s book ‘On the origin of species by means of Natural selection’ was first published
n

(A) 1831 B) 1665
(C) 1859 (D) 1953

In a population unrestricted reproductive capacity is called as

(A) Carrying capacity (B) Biotic potential

(C) Birth rate (D) Fertility rate

Dodo is

(A) Endangered (B) Critically endangered
(C) Rare (D) Extinct

A catalytically active enzyme-cofactor complex is called

(A) Apoenzyme (B) Proenzyme
(C) Isoenzyme (D) Holoenzyme
(8)
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53.

54.

55.

56.

57.

58.

59.

60.

JEN BS.

‘Ex-sit’ conservation includes

(A) National Park (B) Sanctuary
(C) Zoological garden (D) Biosphere reserve

Which of the following organs of human body cannot perform excretory functions ?
(A) Skin (B) Heart
(C) Liver (D) Lungs

Which of the followings is not the characteristic feature of cortical nephrons ?
(A) Malpighian corpuscles are present in abundance ‘
(B) Efferent arterioles divide into peritubular capillaries

(C) Ascending limbs of Henle’s loops are thick all along

(D) Afferent arterioles are narrower than efferent arterioles

The main constituent of the cell wall is
(A) Cellulose ' (B) Pectin
(C) Lipoprotein ' (D) Glycoprotein

Which plant group lacks plastids ?

(A) Bryophytes (B) Algae
(C) Fungi . (D) Pteridophytes

Chromosome is thickest during

(A) Prophase (B) Metaphase
(C) Anaphase (D) Interphase

Which of these is a false fruit ?
(A) Mango (B) Pea
(C) Apple (D) Litchi

Anemophily is the pollination carried out by
(A) Animals (B) Wind

(C) Water (D) Insects

Dorsal and ventral homs of the spinal cord are respectively

(A) sensory and motor (B) sensory and autonomic
(C) motor and sensory (D) motor and autonomic
(9)
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61. Which characteristic of a nerve fibre is dependent on its diameter ?

(A) Tetanus (B) - Excitability
(C) Conductivity (D) Refractory period

62. Which one is a ‘jeol’ fish ?
(A) Clarias batrachus (B) Labeo rohita
(C) Catla catla (D) Barbus ticto

63. Bilaterally symmetrical flower is called
(A) Actinomorphic flower (B) Zygomorphic flower
(C) Epigynous flower (D) Incomplete flower

64. Extract used in ‘induced breeding’

(A) Adrenal extract (B) Thyroid extract

(C) Pituitary extract (D) Ovarian extract
65. —___is a minor pest

(A) Tryporiza sp. (B) Hispa sp.

(C) Leptocorisa sp. (D) Schizaphis sp.

66. Spines of cacti are modified

(A) Stem (B) Branches
(C) Leaves (D) Shoots

67. Bee wax is obtained from
(A) Bombyx mori (B) Apis dorsata

(C) Periplaneta americana (D) Musca domestica

68. Best definition of muscle contraction is
(A) reduction in muscle length
(B) increase in muscle tension
(C) reduction in muscle length with increase in muscle tension

(D) increase in muscle tension with or without reduction in muscle length

69. 1 ac is produced by

(A) Human (B) Insect
(C) Bird (D) Echinodermata
JEN BS. (10 )
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71.

22

73.

74.

75

76.

7.

78.

. Another name of pituitary gland is

(A) hypophysis (B) diaphysis
(C) epiphysis (D) metaphysis

Which hormone can induce animal metamorphosis ?
(A) Insulin (B) Cortisol
(C) Thyroxine (D) Adrenaline

Scientific name of red jungle fowl is

(A) Gallus lafayetti (B) Gallus sonnerati
(C) Gallus varius D) Gallus gallus

‘Green data book’ includes data of

(A) Endangered animals (B) Endangered and rare plants
(C) Extinct plants (D) Endemic plants

Which of the following is not a gastrointestinal hormone ?
(A) Renin (B) Gastrin
(C) Motilin (D) Secretin

Malaria fever is caused by
(A) P. vivax (B) Mosquito
(C) Cockroach (D) Monocystis

Largest and smallest endocrine glands are respectively
(A) thyroid and thymus

(B) adrenal and thymus

(C) thyroid and pituitary

(D) parathyroid and pituitary

Antibody binding site of an antigen is called

(A) epitope (B) isotope

(C) syncope (D) paratope
Ascaris is

(A) Free living (B) Ectoparasite
(C) Endoparasite (D) Commensal

( 1)
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79.

80.

8l1.

82.

83.

Each stomata contains a pair of characteristic cells called
(A) Companion cells (B) Albuminous cells
(C) Passage cells (D) Guard cells

In leech —— _ anticoagulent is present.
(A) Heparin (B) Hirudin
(C) Oxalic acid (D) Salisic acid

Pearl oyster belongs to
(A) Gastropoda (B) Cephalopoda
(C) Scaphopoda (D) Bivalvia

Which immunoglobulin is responsible for development of allergy and inflammation ?

WA (B) IeE
©IM (©) gD
Sperms attain maturity and motility in
(A) epididymis (B) vas deferens
(C) prostate gland (D) seminal vesicle

84.

85.

86.

87.

JEN BS.

If pregnancy does not occur then the corpus luteum degenerates into
(A) corpus albicans (B) corpus striatum

(C) corpus callosum (D) corpus spongiosum

Which of the following is absent in the central nervous system ?
(A) Axon (B) Dendrite
(C) Neurolemma (D) Myelin

Muscle fibres become excited due to the influx of which ion ?
(A) K* (B) Na*
(C) Ca?* (D) CI

Which bacterium is present in curd ?

(A) Azotobacter (B) Lactobacillus
(C). Corynebacterium (D) Salmonella
( 12)
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89.

90.

91.

92.

93.

94.

93,

96.

. The genome of TMV is

(A) Circular DNA (B) Linear DNA

(C) Circular RNA (D) Linear RNA

Bile is

(A) hepatic secretion (B) hepatic excretion

(C) hepatic secretion and excretion (D) pancreatic secretion and excretion
Attificial kidney can promote

(A) active filtration (B) passive filtration

(C) tubular secretion (D) selective reabsorption

If a substance disappears from circulation during its passage through the kidneys, it usually indicates
that it has been totally

(A) secreted without being filtered

(B) excreted without being reabsorbed
(C) metabolized after being reabsorbed
(D) any of the above

E. coli ribosomes contain which type of rRNAs?
(A) 185,298 & 5.88S B) 10S,21S & 68S
(C) 22S,17S & 9S D) 16S,23S & 58S

Which of the following is a non-protein enzyme ?

(A) Lipase (B) Sucrase
(C) Abzyme : (D) Ribozyme
Which one of these microorganisms is used as biofertilizer ?

(A) Saccharomyces (B) E.coli

(C) Rhizobium (D) Yersinia
Cyathium inflorescence is which type of inflorescence ?

(A) Indeterminate (B) Determinate
(C) Solitary (D) Mixed

All parts of a nephron are permeable to
(A) K" and NH, (B) CO, and NH,
(C) Na" and CO, (D) Water and glucose

C13)
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97.

Sequence of different phases of cell cycle is

A) G, >G, »>S—>M B) M>S—G, >G,

©) G, >S>G,>M D) $-G »G,»>M

98. Human Y chromosome is N
(A) Acrocentric (B) Acentric
(C) Submetacentric (D) Metacentric

99. Which enzyme of TCA cycle remains bound to the inner mitochondrial membrane 2
(A) Malate dehydrogenase
(B) Succinate dehydrogenase
(C) Isodtrate dehydrogenase
(D) «-Ketoglutarate dehydrogenase

100. Which one is not an exotic fish ?
(A) Cyprinus sp. B) Tilapia sp.
(C) Labeo sp. (D) Grass carp

¥ BIOLOGICAL SCIENCE
(Bengali Version)
Each question carries 1 mark
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(C) T wi|l

60. FHIPIST 7B @ IR o AT
(A) &RZ .8 G5By
(C) ¥ 8 WewRy

-

B) txamE
D) CGcerFEs

] V%

*B) CHIFe-q
(D) THRTE-9

(B) 365
D) fp

(B) Iy =t
AD) % ==

B) FE@RE @ FRfTF
(D) ®%w 8 wfe

61. FYOEA (N (@Y 22T TIER Tolw SN -

(A) TR
(C) “ifs=ifEet

62. (NG Tores Wy ?

_AA) Clarias batrachus
(C) Catla catla

63. "ARR e gere <o @
(A) 7% e
(C) TN =1

64. ‘erlire e oy [T W
(A) itgaER [
_[C) Pipzoifs: e

JENBS.

VVGB)@W‘?%@

(D) [zAre Fre

(B) Labeo rohita
(D) Barbus ticto

B) TP T
(D) =Pyl g=1
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65, — @b B (o7
(A) Tryporiza sp. (B) Hispa sp.
AC) Leptocorisa sp. (D) Schizaphis sp. (

66. JFOIER F5F 35 wAREe
(A) Fe (B) =M
JL) =t (D) 571

67. CT-CI et Y
. (A) Bombyx mori (A _(B) Apis dorsata (A0S

(C) Periplaneta americana (U (D) Musca domestica <7=

68. (ol TR (= A 7w
(A) o7 f g
(B) ot B <
(C) ¢ Ty gioT e 32w B 9
(D) ¢ B g% o1 239 Ol g sl iR S 2

69. S (ol F@
(A) W7 A4B) o%
(©) iy D) FFFe 4N
70. o525 aif¥m w7 am
AA) AR (B) TRIEIRHM
(C) afsrpzfm (D) HrRAEHM
71. (N TN AT FHARE AW I 2
(A) ZPffer (B) o7
© AZIR (D) St
@ et &l JRAT Reaiorre o g
(A) Gallus lafayeiti (B) Gallus sonnerati
(C) Gallus varius (D) Gallus gallus
JEN BS. ( 22 )
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73. ‘AW G5t I oY ACE
(A) faom = @) o ¢ we Sfemm

(C) fee Eferm (D) arefis Sfgrma

749 qve (@G AT ZACI 7 2
@A) &= B) *fZ
(©) U D) Freefoa

75. it @iaE i
(A) P. vivax ~(B) Wi
(C) SR (D) THIRGH

Jqze 8 Fae Sl g AUE
(A) TS @ B (B) SHIGEH @ AR
(C) AZaee @ FAR2eH D) TREAES ¢ PHEHR

77. SFSCEEE SHGAC THAPI ZACE

(A) @litbiof (B) SHZNE -
(C) Frzrst D) G
78) sl 2
(A) T&ER (B) AZzAREA
&) SEEATE (D) FE (Commensal)

79. =l s @ 16 Rem @E 6 ©f T

(A) 75 (@ (B) SEREAM @
(C) *izd @I (D) TH @
80. (I — SfGERETs AT
(A) el B) FEwin
(€) wmifers syifre (D) WifFhRe SHte

81. el WG (Y&) TA
(A) SHICHITATC! (B) CTFICECe
(C) FITwICaANe - (D) AT

(23)
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(A) IgA
(©) IeM

83. w@lq e @ FETENel AlY 5
JA) @fHAfTeER
(C) 9055 aAfEre

84. sToIEl A 2w T ABalw Rfes =@
(A) 1 SR
(C) T Itenies

85. Mba (PG (FER WFOE AT 2

82. (I FRTAICARTTR =l ¢ amig Jfors wimiage w0 ¢ &

AB) IeE
(D) IgD

(B) S (©FIEE
D) EREE e

(B) 5 B
D) T REesT

(A) ST (B) (TTgRG
(C) Fewitet (D) Wicafew
86. (PO (I TRCTI SHARCHR 1 Trefers 27 ¢
(A) K* B) Na*
_KC) Ca?* D) CI

87. WE-43 W (I WA I$I 2
(A) Azotobacter

(C) Corynebacterium

88. TMV-43 f&ais o'
(A) 5&FFT DNA
(C) &FT RNA

89. fofe T's

A) TPCOT I
(C) TPCST 39 8 (I

90. I & AR FE
(A) Aea Az
(C) TR e

JEN BS.

_B) Lactobacillus
(D) Salmonella

(B) @& DNA
«D) @Rs RNA

(B) TFTEA oA
(D) ST F24 € (Z5w

B) i e
(D) FHifes sfmerare

(24)
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91. I W M FER Ny T eEe 2enR AN RAg ©F (A S 23, OReE 87 Mo
FE @ |

(A) Ml AR G @ T wie T

B) MG sFeeaifEs w1 7@ T @oe zre

(C) M serifEe 28 oi7 F=oYfCid Rl SiRxlae FERCE
(D) TA @ @ 47

92. E. coli ARRICT (T (T 23T rRNAs #Aeql T 2

(A) 188,298 @32 5.8 S B) 108, 21 S 9% 6 S
(C) 228, 17S &R 9°S D) 168, 238 &R 5 S

93, qit5a (0 Gt S-(2od BHEE 2

(A) TR B) &S

(C) ShimiE - (D) ARSI —+ L
94, qUR W (FIF SERD (oo e waze =3 ¢
(A) Saccharomyces B) E. coli
/(C) Rhizobium (D) Yersinia

95. AT AR T AP A 2
(A) SIS B) e
(C€) 9 (D) f=f

06. 6 FFEI AYT T (7

(A) K* ¢k NH, =4l (B) CO, @3 NH, &=
(C) Na* @& CO, =il D) T& @R YT 7

97. @A AfTEte el T

@A) G;»>G,>S—>M B) M->S—>G, —»>G
MO G;—»S—>G,>M D) S5>G,—»>G,»>M
98. WFRAWME Y-(FICICES e
) SICFTES (B) SHIAGS
(C) ARG - D) CHIEE
(25)
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99. TCA SL&e (FI7 TS NEBRAGIR TG AT 7% T& AT 2

(A) T [egErgiiete (B) D fCxRrgieTe
(C) WEEIPIIEE CEgliaTs (D) o-FOIEIEs Tzt
100. b af2Riore g 7w 2
(A) Cyprinus sp. B) Tilapia sp.
/(C) Labeo sp. (D) Grass carp
JEN BS. (26 )
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